
𝑦 = √𝑥⎯⎯ 

      𝒙       𝒚

  −1   𝑢𝑛𝑑

  0   0

      1       1

      4       2

      9       3

Remember: Choose increments of x in your table of values that square root easily.

𝑦 = √𝑥⎯⎯ 

𝑦 = √𝑥⎯⎯  + 1

𝑦 = √𝑥 − 1
⎯⎯⎯⎯⎯ 

𝑦 = √𝑥 + 2
⎯⎯⎯⎯⎯ 

− 3

Up 1

Right 1

Left 2, Down 3

(0,0)

(1,1)

(4,2)

𝐷𝑜𝑚𝑎𝑖𝑛:  𝑆𝑒𝑡 𝑈𝑛𝑑𝑒𝑟𝑛𝑒𝑎𝑡ℎ 
𝑟𝑜𝑜𝑡 ≥ 𝑧𝑒𝑟𝑜 𝑎𝑛𝑑 𝑠𝑜𝑙𝑣𝑒

𝑥 ≥ 0

𝑥 − 1 ≥ 0

        𝑥 ≥ 1

𝑥 + 2 ≥ 0

        𝑥 ≥ −2

𝑦 ≥ 1

𝑦 ≥ 0

𝑅𝑎𝑛𝑔𝑒

𝑦 ≥ −3

Notice it's half a 
parabola!

(0,1)

(1,2)

(4,3)

𝑉𝑒𝑟𝑡𝑒𝑥 (−2, −3)

𝑦 = √𝑥 − ℎ
⎯⎯⎯⎯⎯ 

+ 𝑘

𝑉𝑒𝑟𝑡𝑒𝑥 (ℎ, 𝑘)
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